Fundament 100x100

TABELA REAKCJI

Rodzaj podtoza

Podloze stabonos$ne

Podtoze $rednie

Podtoze nos$ne

H Y, M H Vi M H Y, M
Przypadek obcigzenia kN | kN] | knmp | O kn] | k] | knmp | kD | k]| [kNm
Docisk 00 [ 650 [ 00 00 | 950 [ 00 00 [ 1250 0,0
Wyrywanie 00 [ -100 [ 00 00 | -100]| 0,0 00 | -100 [ 00
Przesuw 30 [ 100 [ 00 30 [ 100 | 00 30 [ 100 [ 00
Obrét 1,0 | 100 [ 20 1,0 | 100 | 25 1,0 | 100 | 3,0

Fundament 120x120

Rodzaj podtoza

Podtoze stabonosne

Podtoze srednie

Podtoze nosne

H v M H v M H v M
Przypadek obcigzenia kNl | (kN] | knml | kN] | kN | knmp | kN | k]| [kNm]
Docisk 00 | 900 [ 0,0 00 | 1300] 00 00 | 1800 00
Wyrywanie 00 | -150 [ 0,0 00 | -150 | 00 00 | -150 [ 0,0
Przesuw 49 | 100 | 00 49 | 100 | 00 49 | 100 | 00
Obrét 1,0 | 100 | 40 1,0 | 100 | 45 1,0 | 100 | 5,0

Fundament 140x140

Rodzaj podtoza

Podtoze stabonosne

Podtoze srednie

Podtoze nosne

H v M H v M H v M
Przypadek obcigzenia kN] | [kN] | knm] | [kN] | k] | [knm] | [kN] | k] | [kNm
Docisk 00 [ 1250 0,0 00 [ 1850 00 00 [ 2500 0,0
Wyrywanie 00 [ -210 | 00 00 | 210 00 00 [ -210 [ 00
Przesuw 75 | 100 [ 00 75 | 100 | 00 75 | 100 [ 00
Obrét 20 | 100 | 55 20 | 100 | 6,0 20 | 100 | 65

Fundament 160x160

Rodzaj podtoza

Podtoze stabonosne

Podtoze srednie

Podtoze nosne

H v M H v M H v M
Przypadek obcigzenia kN] | [kN] | knm] | [kN] | k] | [knm] | [kN] | [kN] | [kNm]
Docisk 00 [ 1750 0,0 00 [ 2600 00 00 [ 3100 00
Wyrywanie 00 [ -260 [ 0,0 00 | -260 | 00 00 | -260 [ 0,0
Przesuw 10,0 | 10,0 | o0 | 10,0 [ 1000 | 00 | 10,0 | 100 | 00
Obrét 30 [ 100 [ 90 30 | 100 [ 100 [ 30 | 100 [ 11,0

Fundament 180x180

Rodzaj podtoza

Podtoze stabonosne

Podtoze srednie

Podtoze nosne

H v M H v M H Y M
Przypadek obcigzenia kN] | [kN] | knm] | [kN] | k] | [knm] | [kN] | [kN] | [kNm]
Docisk 00 [ 2400 0,0 00 [ 3050 00 00 [3800][ 00
Wyrywanie 00 [ -390 00 00 | -390 00 00 [ -390 00
Przesuw 12,0 | 1000 | o0 | 12,0 [ 1000 | 00 | 12,0 | 100 | 00
Obrot 50 [ 100 [ 12,0 [ 50 [ 100 [ 12,0 [ 50 [ 100 [ 13,0




Fundament 200x200

Rodzaj podtoza

Podloze stabonos$ne

Podtoze $rednie

Podtoze nos$ne

H Y, M H Vi M H Y, M
Przypadek obcigzenia kN | kN] | knmp | O kn] | k] | knmp | kND | k]| [kNm
Docisk 00 [ 2700 0,0 00 [ 3650 00 00 |[4850( 00
Wyrywanie 00 | -480 | 00 00 | -480 | 0,0 00 | -480 | 0,0
Przesuw 18,0 | 1000 [ o0 | 180 [ 1200 | o0 | 180 | 100 | 00
Obrét 80 [ 100 [ 130 [ 80 [ 100 [ 150 [ 80 | 100 [ 16,0

Fundament 220x220

Podtoze stabonosne

Podtoze srednie

Podtoze nosne

Rodzaj podtoza
\ H v M H v M H v M
Przypadek obciazenia ing | ooy | openmy | oy |y | openm) | openp | oenp | ponmg
Docisk 00 | 3200| 00 | 00 | 4700| 00 | 00 | 6300| 00
Wyrywanie 00 | 560 | 00 | 00 | 560 | 00 | 00 | 560 | 00
Przesuw 240 | 100 | 00 | 240 | 10,0 | 00 | 240 | 100 | 00
Obrot 10,0 | 10,0 | 180 | 20 | 100 | 190 | 10,0 | 10,0 | 210




